i)  Short Circuit Logical Operator

() The following code results in complication errors. Debug the code
and correct the problem. 4

Class NumberValue

{

Public static void main (string [] args)
{
int number=3;
switch (number)
{
Case 0;
System.out.println (“Number is 0”);
break ;
Casel:
System.out.prinln (“Number is 17);
break;
Case 2:
Case 3:
Case 3: ;
System.out.println (*“ Number 1s 2, 3 or 47);
break;
Default:
o - System.out.println (“Number is less
than O or greater than 4”) ;

. UNIT-11
2 .(a) Write a Java program to print the pattern. 4
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